SECTION-I: CHILD PSYCHOLOGY & DEVELOPMENT PEDAGOGY,

TEACHING LEARNING PROCESS
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1.

©

The goal of Social Cognitive

Therapy is basically :
(4)
(B)
(C)

Self Actualisation
Self Regulation

Uncovering Hidden
Conflicts

(D) All the above.

Social learning theory was

developed by ..c.imrinnnnee

(A) Albert Bandura

(B) Alfred Hitchcock.
Albert Darwen

(D) A]b.ert Einstein.

Which of

approaches to personality is least

the following

deterministic ?

(A) The Humanistic
(B) The Behavioural
(©)- Psychoanalytic

(D) Social Learning Approach.

P.T.O.
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In Freud'’s theory of personaliy .

(A) The Id Operates by

Secondary process

(B) The Super ego obeys the

pleasure principle

(C) The ego obeys the reg]
principle

ity

(D) The ego operates by primary

process thinking,

The Frustration

Aggression

‘Hypothesis :

(A) was develnp'ed by Social
learning theorists

(B) assumes that frustration
produces aggression

- (C) assumes that aggression is

 basic instinct

(D) claims that frustration and

aggression are  both
instinctive.

Which of the following clinical

procedures are based in part on

classical conditioning ?
(A) Transference

(B) Token Economy

(C) Two-chair technique

(D) Systematic desensitisation.



Ifg = 3™ ¥R sfnfya fea o
gadl e

(A) ®gd ® d& H THEM

&l

(B) fommem ® =81 9uit uyrg
FE H G

(C) =& |t FRE S & A
# o= ® = s ®

(D) wfeE® fom &@ @ik smwg
d died &1 g

(D) wfowey @A it gl

Wﬁ%uuﬁmﬁﬁmﬁﬁq
freafafes 4 8 sR-9 s
araq 272

(A) wfeardt & &fga F@
(B) F3N W ©AH @ixd &l

(C) TEFIfcr® ATAFA
(D) e STEer|

N-2313-Series-A

(5)

Intelligence can be defined as :

(A) Knowledge of a great many

facts

(B) The ability to get good

grades in school

(C) All the factors that make a

person different from others

(Q) The ability to think
abstractly and learn from
experience.

Gestalt theory  emphasised

.....................

(A) A flow of consciousness
(B) The atoms of thought

(C) Environmental stimulus

(D) Our tendency to see pattern.

In terms of efficiency in scanning
information, which one of the

following strategies is considered
the best ?

(A) Conservative focusing
(B)  Focus gambling
Simultaneous scanning

Y)  Successive scanning.

P.T.O.
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10.

11.

Muller Lyer illusion is likely tq

occur more in

CU.ltU]"E}S

characterised by :

(A) People living in rectangylar

and square buildings

(B) People living in buildings

which are round and have

few corners

(C) People living in open spaces

(D)

People living in caves.

The model of memory consisting
of short term memory which serve
as gateway to long term memory,

was propounded by :

(A) Ebbinghaus

(B) Crack and Lockhart
/

(C) Tulving

(D) Atkinson and Shiffrin.
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12,

13.

Backward conditioning

occurs

when :

(A)

(B)

(©)

(D)

CS and US are presented

simultaneously

CS is presented first and US
is presented before the

termination of CS.

CS is presented first and
US is presented after the

termination of US.

US is presented first and
CS is presented after the

termination of: US.

Which memory is the result of

instrumental/motor

learning

process ?

{A)
(B)
(C)

(D)

Semantic memory
Episodic memory
Sensory memory

Procedural memory.

P.T.O.
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15.
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People with moderate menta]
retardation would have an IQ in

the range of :
(1}) 10-49
(B) 35-54
(C) 55-70

(D) 20-34.

To design teaching learning
activities for a classroom to suit
the requirements of the
students, teachers should have a

knowledge of :

(A) Behavioural Psychology
(B) Industrial Psychology
(C) Abnormal Psychology

(D) Developmental Psychology.

The drive reduction theory of

motivation is given by :
(A) Hull

(B) Freud

(C) Maslow

(D) Kapson.
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18.

Educational implication of

Educational Psychology for a

teacher is ......ccccccueee 3
/(A) understanding the children

or students

(B) Apply the rules of Science in
class

(C) Solve the School problems
effectively

(D) Correct his/her own
misconceptions about the
Universe.

The  most scientific  and

objective method of studying
behaviouris ................. )
(A) Observation method

(B) Experimental method

(C) Survey method

(D) - Case-study method.

P.T.O.
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(10)

-------------------

includes the qat,

concernin_g the family

background and educationg]

development.

(4) Case study

(B) General behaviour
(C) Genetic approach

(D) Adequacy.

Educational  Psychology s

-------------------

(t}) A Pure Science
(B) An Applied Science
(C) A Normative Science

(D) None of the above.

Psychology is said to be the

~ Science study of ..................

(A) Behaviour and Mental

processes
(B) Mental illness, Mental health
(C) Physical states, Mental states

(D) None of the above.
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Who could the term ‘Serial

position effect’ ?

(A) Hermann Ebbinghaus
(B) Sigmund Freud

(€) Wilhelm Wundt

(D) William James.

Which of the following method is

used for memorising a poem ?

(A) Serial memorising
E’B) Syntactic memorising

(C) Distributed practice

(D) None of the above.

Whois the father of Psychoanalysis ?

(A) Charles Darwin

(B) Sigmund Freud
(C)  Wilhelm Wundt

(D) None of the above.

PT.0.
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In India, first Psychologicy
laboratory  was  establisheq

iA) Delhi University
(B) Bombay University
(C) Calcutta University

(D) None of the above.

The Single factor theory of

intelligence was given by

(A) Alfred Adler
(B) Alfred Binet
(C) David Hull

(D) None of the above.

Archetype is a terminology

associated with :
(A) dJung

(B) Freud

E{P Adler

(D) Skinner.
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Which Psychologist is associated

with behaviourism ?
[flil Skinner

(B) James

(C) Arnold

(D) Hull

In which method of -study of

Psychology independent and

dependent variable are important

elements ?

(A) Introspection method

(B) Experimental method
(C) Observational method
(D) Case History method.

Concepts like introspection &nd
conscious experience are
associated with :

(A)  Functionalism

$B) Behaviourism

() Structuralism

(D) Gestalt Psychology.

P.T.O.



SECTION-I1 : CHEMISTRY AND PHYSICS
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(A) Cs
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(D) Ti. .

N-2313-Series-A

31.

32.

33.

(14 )

A gas that cannot be collectey

over water is :
(A} Ny

(B) 0O,

[9} S0,

(D) PH,

On huiting e volume of Ozone

will : \

rease
(B) Increase
(C) Remain unchanged

‘,‘D} Become double.

The material used in Solar cells

contains :
(A) Cs
(B) Si
(C) Sn

(D) Ti.
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(A) Bry
(By CO
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(D) He.
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(A) Pb
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(C) TR
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Which of the following is not

expected to have zero entropy at
0°C?

(A) Bry

(B) CO

) Cly
(D) He.

The White phosphorus is

stored in ... .
(A) Air

(B) underwater

(C) under Kerosene

(D) None of these.

Lead Pencil contains .............o.... .

(A) Pb

(B) FeS

(C)  Graphite

-

(D) Pbs.
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17,  femadl = s 2 37.  Hinsberg’s reagent is -

(B) CgHzNH, (B) CgHNH,
b
(C) CEHEC{JCI (C) CgzH ,COCI
(D) GEHEEDNHE. (D) EEHEGDN'Hz.
38, ‘fafi B1' @1 gEEtE AW € 38. The Chemical Name

[A_} m m I ‘Vitanun Bl 1s:

(A) Ascorbic acid
(B) wrafis

(B) Thiamine
(C) AT

(C) Retinol
(D) e

(D) Tocopherol.

39.  HR m ¢ 39. The formula of Marshall's acid :
(A) H,8,0, (A) HyS,06
(B) Hy8,0, (B) H,S,0,
(C) H,8,04 (C) HyS,04
(D) H,S0;. (D) H,SO0;.

N-2313-Series-A (16)
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KNO,
NaNO,

Nﬂzﬂﬂap

S0,
BF,
NH,

CH,.
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40.

41.

42.

The Phenomenon of

Radioactivity was discovered by ?
(A) Henri Becquerel

#

(B) Rutherford

(C) Madam Curie

(D) None of these.

Chile Saltpetre is :

(A) KNOg

(B) NaNOj,

(C) Na,S0O,

(D) NayS0,.

Dative bond is present in the

molecule :
(A) SO,
(B) BF,
(C) NH,
(D) CH,.

P.T.O.



43. e 7 AF e W e T

e T
(A) hieeam
(B afEm
) Fe

(D) wrefEEm|

aa e dw @ swEm fEwe i
§ fEm W 2

(A) NaCl
(C) CaCO,

(D) NaOH.

45. TR W WEEE  fHem wa

(A) 391 K
(B) 334 K
(C) 361K

(D) 111 K
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Upto which element the ‘[, ;
0

Octaves’ was found

to be
applicable 7

(A) Calcium (»
(B) Barium Do
(G) Nickel A

(D) Potassium. #

Nelson's cell is used for the

manufacture of :
(A) NaCl
(B) Nay,CO,4

(C) CaCOq

(D) NaOH.

What is the Boiling point of
Methane 7

(A) 391K
(B) 334K
(C) 351K

(D) 111 K.



46, HI= JUEES RERREAC 46.  Which gas 1s prudumd in Soda

i 3= w2 Acid Fire Extinguisher ?
(A} CO, - (4) CO,
B) O, (B) O,
1C) N, (C) N,
D) H, (D) Hj.

4. ‘yn’ fEE FaEs w1 Iewm | 47, Mist’ are examples of which

#7 Colloid ?
(A) T (A) Foam
(B) TN (B) Aerosol
(C) < (C)  Gel
(D) =4 § FE TEll (D) None of these.
48, ‘As,Sq’ g IEM 2 48. ‘'As,S;' is the example of :
(A) vAEfTE FIOES EM Positive Colloid
(B) HUEiy® FAEE (B) Negative Colloid
(C) =g@ s (C) Neutral Colloid
D) T | ®E A (D) None of these.
(19) pT.O.

N-2313-Series-A
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3l.

M
b

W g@ll HEWM gEen # Heaiam
T 27
(A Y
(B) Te
(C) Cd
(D) Au.

0.01 M NaOH @& % pH
&

(A) 2

(B) 10
(c) 11
(D) 12

T %
(A) Wz
(B) wiasfas

(C) wia-s=omes
(D) wies

w2

(A) YT =HEs

(B) WIS am
(C) WM SrHes
(D) ¥ A wE
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49,

50.

al.

52.

(20)

Which does not belong Seeq
transition series ? W

(A)
(B)
(©)

(D)

Y
Te
Cd
Au,

The pH of 0.01 M NaOH solution

is
(A)
(B)
P

(C)
(D)

2
10
11
12.

Equanil is :

(A)
(B)
(C)
(D)

Analgesic
Antibiotic
Tranquilizer

Antiseptic.

‘Aniline’ is purified by

(A)
(B)

Q)
(D)

Steam distillation
Fractional distillation
Simple distillation

None of these.



- i g e T A 27 53. Gammexane is the name given 10

(A) CgHgCl (A) CgHyCl
(B) CgH4Cly (B) CgH,Cl,
(€) CgHgCle (C) CgHgClg
D) CgH4Cly (D) CgH,Cly
54, Feme #: 54. Calomel is :
(A) HgCly (A) HgCly
(B) HgS (B) HgS
(C) HgyCl, (C) Hg,Cly
(D) HgCl. (D) HgCL

s, @fgge ® U@ wEEsa 9@ | 550 Purple of Cassius is colloidal sol

& of :
(A) Cu (A) Cu
(B) Pt (B) Pt
(C) Au (C) Au
D) Ag. (D) Ag.
6. THEH 66 TE £ 56. Nylon 6,6 is not a :
(A) Wafam wferst (A)  Condensation Polymer
(B) UiEMAHEES | (B) Polyamide
(C) He-9ie™l (€)  Co-polymer
(D)  ETEE (D) Homopolymer.
N-2313 Series-A (21) P.T.O.
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T affEa F I E
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FTe SN
(A) 64 T
(B) 112 7
(Cy 327

(D) 44 T

53, ez UEE N TERSRS FH-H |58,

&7

(A) NO
(B) N,O
(C) NyOq

(D) N,O,.

59, fam fo=a 7= 3@ €
(A) 7
(B) 14
(C) 2I

(D) 12
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59.

The rate of a Chemicg| Mgt
Rt [
becomes double for ey, "

very 1.

rise In  temperature Ir A
t
temperature is raised by mﬂ;b

the rate of reaction increas |

gl

about :

(:ﬂ;- 64 times
(B) 112 times
(C) 32 times

(D) 44 times.

Which is the Anhydride of

nitrous acid ?
(A) NO

(B) N0

(C) NjyO4

(D) N,O,.

How many Crystal systems 2%

known ?
A T
(B) 14
(C) 21
(D) 12
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A) A W
(B 9" WA

(C) ﬁ,"ﬂ-'rq wFH
(D a-fﬂ-q 4l

bl
(A) ﬁ'-‘.:l 1

(B) #= H
) 3| H
Dy FafE =

o wE fEel @ OE?
(A) Tefa ® TR
(B) o W TG
(€) wen =1 I
D) F§ | FE T

6. UE wEm T e
(A) 3 x 108 Iﬁ."ﬁ
(B) 9.46 x 1015 L.

(C) 3x 108,

(D) 9.46 x 1015 HA|
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60. Decomposition of NHy

on the

surface of Platinum is @ reaction :

(A) Zeroorder
LB} First order
(C) Second order

(D) Third order.

61. Sound travels fastest in :

(A) Gases
(B) Liquids

{__D} Vacuum.

2. What is One kilo ?
(A4) Unit of Mass
(B) Unit of Length

‘./f‘C" Prefix of numher

D) None of these.

63. One Light year is :
JA) 3 %108 s

_‘_'_,_,_o—""'
\/iﬁ}/ﬂﬁ x 1015 m

C) 3x108m

(D) 9.46 x 1015 m/'s.

(23)

P.T.O.



64. qq;mﬂ'{'ﬁ}?'lﬁﬂﬁﬁfﬁﬂ?ﬁ 64.

Ty am g & ol A% UE e
T FE B, T IES G AT
oW ol § fawrE T
(A) 44m,Tm
(B 2Zm,7m
(C) 44m, l4dm

(D) 22 m, 14 m.

65. #M™ =uiu faerE-wva uE H | 65,

frua man fus s OuE W

27
IEH TEma
£t
aTH
Y
(A) =TEel
(B) &1
(C) %%
(D) TEPTE

N-2313-Series-A (24)

An animal is tied with 7 ™ oy

rope and completes 4 _gEmlmm
The maximum distanes p
it
displacement covered by it wil

be :
(A) 4m,Tm

’(.Bl 22m,7Tm

\AeT 44m, 14m

(D) 22 m, 14 m.

In the following displacement.
time graph predict which one has

maximum uniform speed ?

2 Man Trawn
g Car
z Bike
=
G
&
Time

(A) Man

(B) Car

sﬂl Bike

(D) Train.



b

frl =R W FAE H BRI TR,
mmﬂﬂﬁﬂiqﬂm*ﬂ‘!ﬂa
#mt dFE A M I FW
i £

(A) 1:1

B 5:7

(Cy 7:9

;M 7:9.

=4 # " ® Fen Fem e
dnm & fogra ® Tofa €2

(A) Hefa
(B) &M
(C) i Han
0

(A) 99
(B} =i
(C) zm™

D) =99 | FE T

66.

67.

A body is dropped from a height,
what is the ratio of distance
travelled by the body during 4th
and 3rd second ?

(A) 1:1

(D) T7:9.

Which law of conservation is
followed by Newton's 3rd law of

motion ?

(A) Mass

"_’_,-4""-
w—TB) Momentum

68,

(C) Angular momentum

(D) Energy.

2 Velocity x Mass

If
» Time

,then xis:

A Torce

(25)

(B}  Energy
(C) Pressure

(D) None of these.

P.T.O.



6. TE 2 fam d@efa ;= fiz 10 ms-! | 69. A block of mass 2 kg is Moving
R A T e W T with velocity 10 ms™ on a royg)

_ horizental surface, the coefficient
wm 1 foree oW T pt 0.4 2 of friction ‘1" is 0.4, the distane,

R T AR T TR {ﬂ 2 travelled by the block before
im0l coming to rest :
(4) Om
B) 625 . _AB) 625m
(© 19 (©) 19m
(D 125 = (D) 12.5m.

0. @@ faerm W% & @@ | 70.  Area under Force-displacement

HaEe goim 2 ) graph shows :

(A) @mEm \Mpulse

(B) (B) Work

(C) &m (C) Momentum
(D) =4 8 F¥ =4 | (D) None of these.

N wWawfaanmsn s 50N 3 | 7L

A Child pushes a toy car with 4
@ A e 2, 7= 5o fve

force of 50 N. The power exerted

T2 F 3 owmowd G by the Child in displacing the car
] IEM FTw P by 2 min 50 s is :

(Ay 2W \/mA#

(B T46W (B) 746 W

(€ 5kW (C) 5kW

(D) 100 W, (D) 100w,

N-2313-Series-A (26)



-y, fafafea 4 | f&w® Fvim 3 | 73.  Which one of the following has
AR Afus 27 Large gular Velocity ?
A) T R e F !1% 1 ) Minute hand of a watch
®) =@ R0 Hﬁﬁg = (B) Hour hand of a watch
; : (C) Rotation of earth about its
(C) YAl & 9 1\ & R oy OWn axis
b (D) Revolution of earth around
(D) e & @ & e g = the sun. "
. J R
M UF @ ug # Feel (Ring) A | T4 A Ring and a disc of same
gaFR fer <A @1 & e R material having same mass ‘M’
i e M wE 4 F e and radius ‘R’ are rotating about
T @ g w # 4 an axis perpendicular to its
; ) plane then MI (Moment of
FH A2« MI):
= (MD Inertia) will be :
[
A) T g {ﬁ.}ril’rﬁe'i’g both
(B) femm @1 MI =1 &M 81 Disc has more MI
(C) wed F1 MI @ FW (C) Ring has more MI
D) w@ st 7@ Fw FHA (D) We cannot predict.
fN‘EﬂIE Series-A (27) P.T.O.
. = e o M

frdl a5 ® A H S0% B Amm
g & ™ a9 W e Fat o

et whwm 1 gfg e 2

(A) 33%

(B) G6%
(C) 100%

(D) 125%.

2. If the momentum of a body is
increased by 50% then % age
increase in K.E. of the hody will be ?

(A) 33% s _‘3{;_
{E} EE'?;J B T 3 M- .“r:
- r’I = =
x_/’?’/ 100% i =K
(D) 125%. =




75,  WE W@ Ioed B3 OFE L
Farafadl @m 21 94 g% T &
gl & @

(A) @wia nfa wm EE @ e
wgm @z §

(BY Fmim nfa =R v # 3l
FTm FA A ¥

(C) Fwim A 3 wEm I @
azat €

(D) =it 7fa &R wEm SH €
w0 Wl gl

7. WM UF g%] Y ® wad Ao frufa
| | 2 ¥in foxr ffa 3 w0 oamEd
T T @ I '
w1 U FHH TM:

2
3
(A) BI>8By >gy
[B} “I{g?{Hﬂ
(C) E:*‘Eaﬁ'gg
(D) gl“ﬂ:{"zﬂg.
N-2313-Series-A

75.

76.

A diver jumping from 2
springbonrd exhibits somersay),

in air. When he Curls, his body .

(A) Angular velocity decreases
-
and M

increases

Angular velocity increascs
and MI decreases

(C) Both angular velocity as

well as MI increases

(D) Both angular velocity ag
well as MI decreases.

In reference to earth, if a body
moves from position 1 to 2 and
then to position 3 then the correct
sequence for acceleration due to
gravity ‘g’ will be :

(A) By >Ez>8y
(B} B <8y <Ey

(C) E1>B3>K

\_'/“B(-El “Ba < B

( 28 )



fm 0 @ TE TE P WA S
& W A I Fe °EA
3, grifed @3 SEA orAfER e
QUN #F J M & Wt "W
i E R AT WAEa ¥ o3
; g § T ™ ON'H @@ U
 wEam & @ty ety
ma:ﬂm.

77

D) ty=ty

78. qtﬁi-ﬁlﬁmmﬁﬂffﬁﬁ

(C) 1:42 i

(D) &:1,

(29)

N-2313-Series-A

77.  Figure shows elliptical orbit of a
Planet ‘P’ about the Sun ‘S". The
shaded area SEA is twice the
shaded area SUN. If ‘t’ is the
time for planet to move from 'E’
to A and 't,’ is time to move from

N to U, then :

78. For a satellite of earth moving
around it, the ratio of K.E. to P.E.

is :

P.T.O.




79.

80.

81.

N-2313-Series-A

e % TR 3 @ TR 3R
TR = @wron R

(A) WOE & '
(BY WgrR (I31d1)
(C) =far=

(D) vl & F

Gitgme W § 9UNE 77°F W
a9 ufcan =9 § §91 Ave
Ut 2

(A) 0°C

(B) 273.15°C
(©) 364°C
(D) 25°C.

TF A% F §@ e a7 w5
39 E R @ faerm smm =
I e R T we W e s

G T

(A)

0o | MI&
=

(B)

]
=

(C)

e o~
(=

(D)

79.

Spherieal  shape  of

smal|
molecules of water is due t, .

L/Iij‘rﬂgurfﬂm tension

80.

(B) Viscosity
(C) Capillarity
(D) None of these.

The temperature on Fahrenhe
scale is 77°F then the corresponding
temperature in Celsius seale s -

(A) 0°C
(B) 273.15°C
{ﬂj 36.4°C

um”z'i:c.

81.

(30)

The total energy of a particle
executing SHM is E. When
! 1 15 E

displacement of particle is half of
the amplitude then KE. of the

particle is :



83

N-2313-Series-A

ey
b

oz oFa 3@ F osmfe 125
7ea (1,25 Hz) #1 7/ v foe =
W= %24 fFa+t =am vzFm?

(A} 65
(B) 75
(C) 80

(D) 90.

faf 9 @f = &

(A) 0 ms!

(B) 332 ms!
(C) 280 ms™!

(D) 660 ms-1,

W WA W @ =g oW de
faeg @ smm:

(A) =

£ e

yfaweu

W aEdw R F
il

(B)
(C)

(D)

82. If the frequency of Iﬂmn_hfn_r:l

is 1.25 Hz, the number of heart

-

beats in 1 minute is 7
(A) 65
37 b

(C) 80

(D) 80.

83. The speed of sound is Vacuum is:

vﬂm:l

(B)

(C) 280 ms-!

332 ms™!

(D) 660 ms™1,

‘Ed. Electrostatic force between a

proton and a Neutron will be :

Zero
(B) Attractive

(C} Repulsive

(D) Sometimes attractive and

(31)

Sometimes repulsive.

P.T.O.



anC F odm A% 4 2 ™ 85. A Charge of 3 nC is fixed g
™ n P origin then the electric fiel] 4
s W@ Rl W fergn : distance 5 m away is :

(A) 5400 NC! w)/mnu NC-]

(B) 216 NC-! | (B) 216 NC-!
(C) ONC? I (C) 0NC!
(DY 1080 NC-1, (D) 1080 NC-L

f. ®w Tuwfm f8 ¥ 2nF 86. Seven capacitors each of
& dafen 1 2 frad T@ @ capacitance 2nF are to be
A dafqa f&qm wm & )

connected in a confipuration to
obtain an effective capacitance of

worE! [%] nF F1 ¥ 31 (i?]nF Which of the combinatien
| wueE 4w yfome gm: will achieve the desire result :
(A) — Hi A = H
[ 4 l |
%
(B) 4} (B) 4=
o

(€ _<>-<HI—IH}— (C) 4<>—4HHHI—

(D) —<>'4HHHH|-— :>—lHI—IHHl"'

N-2313-Series-A

(32)



¢, Wh FFR e wm R e
w fapm fiya W @ frp

(A)

& |o

(B)

3. frdt wfias & dwwa = T 0
3wl sy w1 o W e
IgE Ta wfy

(A) 3§ w©m
(B) X 7m &

(C) 3w w® <mgm

(D) TF =i i—wmu

N-2313-Series-A

(33)

87. Il an electric dipole is enclosed in
a certnin Gaussian surface then

electric flux will be ;

A)

(B)

o\

(C) Zero
q
(D) &

88. Ifaren of a resistor is doubled the
original and lenpth is halved,

then its new resistance will :
[_);d remain same
(B) becomes twice

{ﬁ} become half
X P ’_,,J'"'f
\___.,-ﬂﬁ/hucume % times.

" P.T.O.



arm (25+5)Q A ufmus w1 | 89. If resistance (25+5)Q is 0 by

f@mﬁa’fﬁﬁmmmﬂq
wfrdus o B

£9.
rEpI‘EEIEI'ItJEd, then sequence of

colours in carbon resistor wil ba .

. (A} Red, Green and Black
) ®me, ¥ Il
(A (B} Brown, Blue and Gold

aft g
(B) YU, =en Y Red, Green, Black and Gol4

() T, ¥, w3 T D) Red, Green, Black au
(D) @@, &, Fen 3 o Silver.

s, feeis w1 faga @1 vee fam | 90, Kirchhofl's 1st law of electricity i:
frm W & frm W snafw@ & based upon law of conservatior

| of :
) T (A) Mass
(B) amaw \_/(.B"l_/ﬂharge
(C) i (C) Energy
(D) 38 | S T (D)} None of these.

N-2313-Series-A (34)



al.

92.

93,

SECTION-III : MATHEMATICS

A X -ax a6x-n F (x-nT
ffm fFm s €, @ T Yuwe
T i-".

(A) 4a
(B) 9a
(C) b5a

(D) 7a.

a7 (x-1), p[:«:]zkﬁ-ﬁ:+1,
W TE R, WM kw g

JZ -1
J2+1
-(V2+1)

~(v2-1).

(A)

(B)

(C)

(D)

Sinx + cosx 1 AfuFEaE A T
{A) 1

(B) 2

(C) 2 '

1
(D) E

N-2313-Series-A

(35)

1.

92.

93.

When x* -ax? +6x-a is divided
by (x — &), then remainderis:

(A) 4a
(B)

{B)
(D) Ta.

Oa

S5a

(x-1) is' a factor of

P[x} = I:l.::l:.2 - JEH -+ 1. then thE
value of k is :

A 2-1 ¥
(B} ,fé+1
(i)

-(v2-1).

(C)

(D)

The

sinXx + cosx is:

@w 1

(B) 3
(C) 2

maximum value of

1
(D} 3

P.T.O.



o0, faed wen o wrerad ol sl @ | §4)  The number of boys and girlg i,

wema o g 7:5 21 ufx = class are in the ratio 7:5 The
# wen afawel #®1 §en 0 8 number of boys is 8 more than ths
afus 2, @ Fan o | fea famedl number of girls. Then the o1
e class strength is :

(A) 38 (A) 38

(B) 58 (B) 58

(C) 48 (C) 48

-~
(D) b55. (D) 55.

95. UF WOW WEm ® T IEH A7 The denominator of a rational

# g ofgs 21 3fz sim d 17 I number is greater than its
numerator by 8. If the numerator
fa omg 7o WA /1WA R is increased by 17 and the
3 denominator is decreased by 1, the
Y 7@ FH W wh 2 = .
wfim wen 3 number obtained is 3 Then the
13 rational numberis:
(A) =
21 13
(A) 21
B) "
23 15
. (B) 23
(C) 17 | © 1
19 . 17
(D) —=-
31 19
(D) 3

"fﬂ
H-ZSIS—SEI'iEﬂ-A ) (36)



9. % 3=l aeht {) ™ gE 0w &_ﬁj One of the two digits of a two digit
% TG F A= qen #) g sl number is three times the other

F ™F TESl W HEn & D dig‘itllf}ruuintﬁrchnnge the digits
of this two-digit number and add

11'§ HE] ﬁ‘ﬁﬁgﬁ' qT 88 WiE when the resulting number to the
21 @ ™ dem Tm Em? original number you get 88. What
(A) 68 will be the original number ?

A
(B) 62 4}, 68

(B) 62
(C) b2

(C) B2
(D) 76. (D) 76.

-

o 56,000 T, 2 = R BFU W | 97.  What rate gives 2260 as interest

7280 WHRVl =15 27 BM7 on a sum of ¥56,000 in 2 years ?
(A) .50% ' (A} .50%
(B) .25% (B) .25%
(C) .45% {(C) .4b%
@ = A =R T (D) Nﬁnn of these.
98. mal“}_'_m" (_%J +sin™! (—%J =7 98. taﬁ'l{lj +cos”! (-—-]-;2-] +Ein‘1[—%J =7
3n 3r
(A) r 8 (A) Y
i n
(B) y {E'-] y
13 nt 13n
(C) P (C) —1-2-
n n
( —ti (D) --.
D) -7 ) 3

N-2313-Series-A (37) PT.O.



9., 28 cm fron @ uw ufew & | 99. How many times g wheg| .
352m g ™ wH ® fou fEa radius 28 em must rotae toy
AN gE wEmI 352 m? |
(A) 100 (A) 100
(B) 300 (B) 300
(Cy 500 (C) 500
(o) éﬂﬂ. (D) 200,

100. B8 % WuW 15 T &1 A SE The sum of 1st 15 multiples of 8 i3
21 . equal to:
(A) 960 | (-f}} 960
(B} 980 (B) 980
(C) 1020 (C) 1020
(D) 860. (D) 860.

101. 4k Wer =75 3R wiiers = 60, 101, If Mean = 75 and Median = 60,

qEoTh qUEt B then mode is equal to :
(A) 30 (AY 30

(B} 105 . (B) 105

(C) 330 . (Cy 330

(D) 345. (D) 345.

N-2313-Series-A (38)



| j02. 230 M, a1 AE AMET T & | 102, The cost of fencing a square park

T R Ag R W osm 20 of side 260 m at the rate of 120
gfd @ N W | T ¢ per meter is equal to :

(A) 15,000 (A) 15,000

(B) 320,000 (B) 120,000

(C) 10,000 (C) 110,000

D) 225,000, (D) ¥25,000.

103, 3 6,2, 7, 4 33§ | vAF | 103. Whatisthedifferencébetween the

w a0 U 90 WA FW E greatest and the least number that
FA¢ W WES ael gAR 95 3 can be written using the digits 6,
a8 TR wem w1 I w22 2,7, 4 and 3 each only once ?

(A) 62,864 (A) 62,864

(B) 29,655 (B) 29,655

(C) 52,965 (C) 52,965

(D) 55,296. (D) 55,296.

£

104, Y| F1 Fg @ 4THA - 7 104. Total surface area of cone = ?

(A) =nrih (AY =rh
(B) mrl+nr® (B) mr/+ne?
(C) 2nrh (C' 2nrh

! (D) 2xr(r+h). (D) 2re(r+h).

Y
]

N-2313-Series-A (39)



105.

104,

107.

N-2313-Series-A

TF g agye w feadt spemd
vi afz v am o w1 v 24°

w?

(A) 10 s=md
(B) 15 g
(C) 20 yd
(D) 25 ymd)

FitFTn 2% -10.2°+16=0 =

0@ T g
(A) 2,8
(B) 1,3
© 1,8

(D) 2, 3.

1099999 T “rardl T #:
(A) 11,000,00
(B) 10,999,98
(C) 11,000,01

(40)

105. How many sides doeg -
Rul

pelygon have il the Measyy,
an exterior angle ig 94c ?
(A) 10 sides

(B) 16 sides

(C) 20 sides

-

(D) 25 sides,

@The roots of the equapj,

© 9% _10.2* +16 = 0 are equal tg .
jA) 2,8
(B) 1,3
(C) 1,8

(D) 2,3

107. Successor of 1099999 is equa

to:

(A} 11,000,00
(B) 10,999,98
(C) 11,000,01

(D} None of these.



n(n+1){2n +1)
6

o 23]

(C)

109. THIF 4*-32*3:128=0 &

L

(A) 1 32
(B) 2 33
(C) 3 34
(D) 4 3 s.

o, w faaem W so0 famdd &
7. & s # fou 3% @ a®
A e fem T T i@ @
e e F GEm ® §EA B
T oraen 1 oA ° e il

F1 4wy W Em?
{A) 14 famf
(By 16 famed
(C) 18 ferened
(D) 23 faenel

N-2313-Series-A

108,

41)

(A)

(B)

The roots of the equation
4% -3.2*34+128=0 are:

(4) 1 and 2

(B) 2and3

(C) 3 and4

(D) 4 and 5.

There are 500 students in a school.

* For P.T. drill they have to stand in

such a manner that the number of
rows is equal to the number of
columns. How many students would
be left out in this arrangement ?
(A) 14 Students

(B) 16 Students

-

(C) 18 Students
(D) 23 Students.

L] ‘-TI-O"



.

112.

113,

N-2813-Series-A

ww T TR W gen & i e
g STwE 600 em? #7

(AY 20 cm
(B) 10em
(C) 30cm
(DY 15 cm.

cin?75°—sin?15° @1 WA
(A)

(B)

- ol oM

(C)
(D) 0.

gfz 52 Tl A TH A W TEE!
A T frEen 9w R, WO
%Ry ¢ Aufa 7=k aen gWm S
ﬂ-ﬂmé:

(A =5
(B) =<3
(C) =3

(D} =

111.

112.

113.

(42)

(B) —

What will be the side of gy,

whose surface area is 600 ¢mp2 .
(AY 20cm
(B) 10 cm
(C) 30cm

(D) 15cm.

The value of sin?75° —sin? 15° s
1

A 3

V3

(B) **2—

(©) 1

(D)} 0.

Ifa Card is drawn from deck of 5
playing cards, Lthen probability o

getting a face card is :

A +

C T3

[D) _—_ i



14, TR a 3T mimn | 114. If « and i are the roots of the

Ix’-5x-8=0 = e @ equation x? _5x-B=0 then
ap? + fa? TR B af? + pa’ isequal to:

2 2
(A) 3 (A) 3

. B) =
(B) 2 ( 2

40 40

(C) "9 C) -9
(D) 4 @ w e - (D) None of these.

115. -%,;[-%] 1 TR wfrem 2 115. Multiplicative inverse of :

5 [ 3)
—x|=-—| I8
8 7

56
(A) T i _!_1_5__‘*5
— 5
(A) 15
15
(B) 56 : "
) 56
(C) 2 56
15 -
(C) 15
15 15

N-2313-Series-A (43) P.T.O.



116,

117.

N-2313-Series-A

@ wgR A § 6 Fronfa
% fig 3 wom v wfew) A M4
frfel & fog fed @l @

SETERA B2
(A) 4
(B) 12
(C) 8

(D) 14.

wopf uf F owR AR FEe
12%, 1080 27

(A) 9000

(B) 7000

(C) 8000

(D} 11000.

116. In a Computer lab., there ay, 5

117.

(44 )

Computers for every 6 studeny,

How many computers wil] be

‘needed for 24 students ?

(A) 4
(B) 12
-

(C) 8

(D) 14.

What will be the whole quantity il

12% of it is 1080 7

" (A) 9000
'

. (B) 7000

(C) ' 8000

(D) 110C0.



NS, 2 T amFfa § @@ x ot ¢ wr | 118, In given dingram, what will be
TH PRI the vnlues of the unknowns X

and ¥ :

50° YA~ 120°

—

(Al x = 30° y = 6G0*
y (A) x=30°y=60°

(B) x=35°y=45°
¥ (B) x=235°y=45"
(C) x=70°%y=60° (€) x=170°y=60°

(D) ¥m # =¥ T (D) None of these.

9. A (<3)™ (-3 =(-3), @ | 110 If (-3 x(-3)" =(-3)", then

m & 2 m is equal to:
(A) 1 . w1
(B) 2 (B) 2
(C) 4 (€) 4
(D) 5. (D) 5.

120, x*-3x’y+3xyi-y'=? 120. x*-3x’y+3xy’ -y’ isequalto:

(A) (x+y) (A) (x+y)’
(B} (x-y)’ B (x-y)
) x'-y° () x'-y
(D) FE 8 &9 T (D) None of these.

N-2313-Series-A (45) P.T.O.



SECTION-IV : GENERAL AWARENESS INCLUDING HII&MEI[AL
PRADESH CURRENT AFFAIRS & ENVI RONMENTAL STUD]gg

121. WA F1 QYm I9-AUEEE FE 17 121. Who is the First Depyty
'

(A) T e T Minister of India ?
(A) G.L.Nanda

(B) Zd1 @™
(B) Devi Lal
(C) = fuw (C) Charan Singh
(D) TER aeaYurn v2dl (D) Sardar Vallabhbhaj py,

122. = WO @ GOATE T 9? 122. Who was the founder the ,

(A) 5 Samaj 7

(A) Swami Shraddhanand
(B) =Wl A= T

EE) Swami Dayananda Sarag
(C) =t f‘a-am (C) Swami Vivekananda

(D) TS TW CHEA UHEI (D) Raja Ram Mohan Roy.

123, W@ guem ten # I § few | 123, India is located on North

werel & men fem 220 Equator between which
following Latitudes :

(A) 8°4' 3/T 37°6' ® Hg .
(A) Between 8°4’ and 37°¢

(B) 7°4 °6' T
) 3 36°6' F WA (B) Between 7°4' and 36°

(C) 8°7 3 39°6¢ & ueA h (C) Between 8°7 and 39°

(D) 7°4' 3 40°6' & WA (D) Botween 7°4' and 40°F"

N.ﬂﬂlﬂ-—Seriun—A (46)



124, fR®s 3@ fagm wfmmm fam 124. Hirakud Hydel Power Station 18
@ W fem 22 located on which River ?
(A) =4 (A) Chambal
(B TUEH (B) Gandak
(C) WETEl (C) Mahanadi
(D) HEAYEI (D) Sonbhadra.

126. A 71 Frafeafas =@ 4 E 7] 125. The Raman Peak is situated in

w fem 27 which of following place ?
(A) @vsHE et fretam o (A) Andaman and Nicobar
(B) fmanfes o (B) Siwalik

(C) Tt gEen W (C) Zaskar Range

(D) sma PR HI (D) Arabian Sea.

126, =fuw wa @1 wated foa @ @ | 126 Which is the Highest Peak of

# South India ?

(A) FE= (A) Mahendragiri
(B) WEEETal (B) Mahabaleshwar
©) ErEEEE | (C) Doddabetta
(D) =AEgE (D) Anamudi,

N-2313-Series-A (47) P.T.O.



127. wrefta wfaum & srvia =nfgw | 127, Who has the Power of Jyg; .
4

Hifaess = wfem fFd e review under the Indi,,
2?7 Constitution ?

(A) FEd I=9 AEEA (A) High Court Only

(B) wae I=gan =qHEEd (B) Supreme Court Only

(C) I=ufy (C) President

(D) 3= du1 I==9aH Al [P} High and Supreme Cc{un.

128. 9d &1 9N UEMA *W & HA | 128. The Thar Desert of India

feod &3 W wen ®'a 27 spread over how much area
the country?

(A) 10.25
(A) 10.25
(B) 12.13
: (B) 12.13
L]
C) 29.
i 2 (C) 29.15
129. F9 w1 HE &G w72 129. Main source of Energy is:
(A) &9 wifeE (A) Molecule power
(B) dziferan (B) Petroleum
) ¥4 (C) Sun
(D) faga wfe (D) Electric Power.
N—Eﬂl&-ﬁﬂl‘iﬂﬁ-ﬁ ' ( 48 )




p30. W & f&w = A a6l 130. In which state of India Land-

wE Al afew T @2 sliding mostly occur ?
(A)  T=TFITH (A) Rajasthan

(B) 39 W@y (B) Andhra Pradesh
(C) I w&¥ | (C) Uttar Pradesh
(D) IoTEvE| EEJ} Uttarakhand.

131, wet 2w f&m 2w 8 9@ @ | 131, From which country did Mother

oft? Teresa came to India ?

(A) Frreerfan | : (A) Yugoslavia

(B) zrearnm (B) Albania

(C) el (C) Italy

(D) mﬁﬁa«'n (D) America. :

132. WEE Wed @ WRY ®E @ g | 132. From where did Urban Life

o7 begin 7

(A) =7 4 (A} From China

(B) ¥ ®H (B) From Iran

(C) wAEmEfEm 4 (C) From Mesopotamia
(D) wm9E HI (D) From Japan.

-2313-Series-A (49) P.T.O.




133.

134,

135.

N-2313-Series-A

U9 A H TTEd Rl RTE
F4 7 4P
(A) 529 %3
(B) 519 %4
(C) 509 9.

(D) 27 &4

vEm afE g 0E RER FE W
27

(A) wEm A

(B) mmm H

() wEwed

(D) TR A

fava o way @R ¥ @ fFE W

A T 917

(50)

133. When was the repuhl e Esmhlishr

134,

135.

in Roman Empire 7
(A) 529 B.C.
B) 519 B.C.
[C';‘.i 509 B.C.

(D) 27B.C.

Where is the “Dome of the Reg

Mosque ?

(A) In Medina
(B) InSamara
() Ind erusalem

(D) In Baghdad.

On which river was the Worl
First Iron bridge Built ?

(A) Themes
[ﬁ] Severn
(C) Ganga

(D} Amazon.



136, vl & framn &8 =@ o 136. Who is called ‘Father of

#? Railways’?

(A) =g ifafus =i (A) Richard Trevithick
(B) wme =rhEEd Hl (B) George Stephenson
(C) =UF &% Afeed & (C) Duke of Wellington
(D) =E. ®. FAA F - (D) 1. K. Brunel.

137. wigE s weemei  fRR WER | 137. How many types of Marriage are

deseribed in Dharmasutras and

# faam w1 avid €7
- _ Dharmashastras ?
(A) @ TEW ®
h}] Two Types
Lo % (B) Four Types
©) @ TEH B | (C) Three Types
,l (D) #@ TFW FHI (D) Eight Types.

3

|
‘L |38, a9 WG w9 A 97 138. When did Bernier came to India ?

(A) 1645 % H (A) 1645 AD.

. (B) Iﬁif; A | (B) 1656 A.D.

(c) 1670 & # ° (C) 1670 A.D.

(D) 1688 % HI (D) 1688 A.D.
N-2313-Series-A’ (51) P.T.0.




139, WA H1 wum wWaAw ST & | 139, Who was the First Survey,
“o Up

1 General of India ?

(A) =, UEH e (A) J.F. Fleet

(B) =7 wmwl= (B) John Marshall

(C) Hda Hiferd Heps (C)  Col. Colin Mackenzie
(D) HAFAST TN (D) Alexander Greenlo.

140. ¥RA 4 won TSl &9 9o 78 | 140, When the First Train Started iy

17 India ?

(A) 1850 %. (A) 1850 A.D.
(B) 1853 3. H (B) 1853 A.D.
(C) 1856 % ® (C) 1856 A.D.
(D) 1857 3. Hi (D) 1857 A.D.

141. Teormm w=w &+ f5a o9 3 gram 141,
Afvam 0 wEa=E foa &1 (=R

Which distriet of Himachal

Pradesh has won the best Award

S 27 in Poshan Abhiyaan ?

(A) Temen (A) Shimla

(B) HieHA lﬁ‘.i Solan

(C) wel (C) Mandi

(D) EH (D)  Hamirpur.
N-23 13-Series-A (52)




j42.

144.

N-2313-Series-A

fearae wewm & dwmenfzn gfem
g wfy fem smom:

(A) @En A

(B) TTHATHR

() @EfFan

(D) @it fafem

foma 79 ®1 dfew W o 7
(A) faamm
(B) HfewHl

=
(D) =gt

(C)

frefafeas & @ s @ fewma 4

v we 4 faem w6 aen
Teen T 917

(A) TR

(B) faemaq

(c) faam

(D) T

142. Para Gliding Training Institute in

143.

144.

(53)

Himachal Pradesh will be set up

at ;

(A) Solang Nala
(B) Waknaghat
(C) Khajjiar

(D) Bir Billing.
L

What is the Vedic name of River
Chenab ?

(A) Vipasha
(B) Asikni
(C) Shutudri

() Chandni.

Which of the following was the
First State to merge with Indian

Union in Himachal ?
(A)  Bhagat
(B) Bilaspur
(C)  Theog

P.T.0.
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145. Tafefaa & & fega 1810 4 # 145.

e =t @ w7
(A) wfedz =
(B) WS A=t
(C) = wied

(D) «E THRE|

146. femmae wew %1 @99 Fg1 i | 146,

2:

(A) fafm
(B) =mu femmt
(C) =|ed

(D) TEHIT

147. 4gvEqa fae wom = Y'uoHifos | 147,

' WA 47

(A) FHIETH

(B) wTHE Hrea

(c) =ui W faw s

(D) THE Tl

(54)

Who among the folloy,:
ing

discovered Shimla in 1819 AD 3
(A) Lt Rose

(B) Major Kennedy

(C) John Lawrence

(D) " Lord Amherst.

Which is the largest Glacier i,

Himachal Pradesh 7
(A) Shipting

{P} Bara Shigri
(C) Kulti

(D) Gyephang.

Who was “The Political Guru” df
Y. S. Parmar ?

(A) Kanshi Ram
(B) Bhagmal Sautha
(C) Chaudhary Sher SinghJut¥

[l;l} Ram Lal.



j

45,

149,

150.

N-2313-Series-A

Fm e, AR W w
fram &2

(A) e

(B) =@

(C) =Wl

(D) WATE

qa # fRg e we A SR,
187] % ® wE @ amn FY

(A) @€ HAl

(B) wig HHanad

(c) =g fuel

(D) ST0F § @ FE T

71 1 7 fg foren & WeH ARG A
197 il % g g W 191 WS
i ygarE ed frwtg 87

(A) FHTH

(B) IS
(C) Taomaq

EREL

148

(55 )

149,

150.

Central Potato Resea rch Institute

' located at which place ?
(A) Dharmashala

(B) Chail

(©)

(D)

Bemloe

Manali.

Which Governor general of India
visited Mandi in October, 18717

(&) Lord Mayo |

(B) Lord Cornwallis

(C)

Lord Minto <

=

(D) None of the above.

Saksham Bhardwaj of which district
has set a world record by identifying
the National Flags of 197 Countries
within 191 Seconds ?

(A)
(B)

Hamirpur
Kangra
(C) Bilaspur

(D) Mandi.

P.T.0.



